
 

 

Answer on Question #67862 – Math – Statistics and Probability 

 Question 
 

Assume that on an average one telephone number out of 15 is busy. Which 
probability distribution can be used to find the probability that if 6 randomly 
selected telephone numbers are called, not more than three will be busy? Find the 
probability.  
 

Solution 

The binomial distribution with 𝑝 =
1

15
, 𝑛 = 6: 

 𝑃(𝑋 = 𝑘) = 𝐶𝑛
𝑘𝑝𝑘(1 − 𝑝)𝑛−𝑘 . 

Then 
 𝑃(𝑋 ≤ 3) = 𝑃(𝑋 = 0) + 𝑃(𝑋 = 1) + 𝑃(𝑋 = 2) + 𝑃(𝑋 = 3) = 0.9997. 
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